ALGEBRA 2 Name Mve. Y Block
Unit 4, Test 2 REVIEW _J

Shifting from the Parent Graph
For each equation below, provide the information requested and SKETCH the graph (labeling the

important point).

4
1) fx)=vx-2-1 a) Locator Point: ( o "ls
b) Compressed or Stretched Nelthg;\ c) thped Yes or@ 4————!—74—>';7

¢) Domain: [ 9, m) d) Range: | ‘Cﬂ) v' :

2) f(x)=Ux+5+2 a) Locator Point: K - 5 A ? ) ...i
i p— ;
b) Compressed or Stretched or NéithefZ)c) Flipped - Yes or(No ) W{: { >

¢) Domain: TR d) Range: ﬂ?

3) The graphof y = Vx is shifted 8 units right and 2 units up. Which is the equation of the translated
function? (Circle One)

a) y=+Jx-8-2 b) y=+x+8-2 c) =4/x M!?:h d) y=+vx+8+2
\m

e
T s

4) What are the domain and range of the function y = —v/x -3 ? (Clrcle One)

B e

a) Domain: (—o0,0) Range: (—oo,0) momam [3,00) Range (—oo‘m
¢) Domain: [3,00)  Range: (—o0, ) d) Domain: (—o0,00) Range: [0, —o0)
ru.,
5) Investigate Square Root  7(x)=2Jx—-1+2 Parent Function: \A = A X

Locator Point: (_I 93
Domain: f f ] m§

. \
Range L 9, OO )

,sf-"'-‘_ﬂ:"\-"*"‘-n‘
Compressed 61‘ Stretchedé' Neither? (Circle One)
Flipped — Yes or{ﬁb? (E)cle One)
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6) Investigate Cube Root f(x) = — {x + 4 Parent Function: [} = X

-
Locator Point: C O ) e 3
Domain: }’R
Range rR
Compressed or Stretched or rcle One)
Flippe@or No? (Circle One)

7) Does the graph on the right represection or a cube root function? Justify your

reasoning. Ao
8

Write the equation of the type of function you chose. Be sure 8 /
your graph and equation includes the points given on the graph }

to the right.

. SX"’; +5’ <-a-a-4-2 '2%4su1u12>

8) On the same grid, graph the functions: f(x) =x+ 1 and
intersection. Label each graph and their intersection point.

(3,3)

o}

Algebraically solve the equation( x + l)i Vx +7.
X2+rdxt)= xt7
ngx - =0
(x +3§(,><‘93 =0
xe-3 X=2

How do your answers compare?

Same. x=2 LI ETT
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9) Giventhat f(x) = (x — 3)? and g(x) = — - Simplify
a) f(g(x)) b) g(f(-1))
m g (16)
I S > C
"\“"’ - Jigt M
!
| 2

10) Find the inverse of the functions:

a) f(x) = — b) g(x) =Vx+3
X = ;m X = ,JE +3
S yt3 i

o X3 74

Solving Equations

11) Solve the equation and check your solutions:
a) (2x+6)"* =8 b) —42x +3=-21

a':{‘i'i@: Cﬂq 'L/,J—g—g_ ‘.:"9"'
DX w*f,’,)la m‘f{g

X =39 | ox =3k

| X=18

12) Solve the equation and check for extraneous roots:

a) 4W/x—1=3 b) V3x+7=x-1
4yJx=Y 3x 7= x - x|
A\r;:f‘f 0= Xa‘"fi;“*\ -b

=} D= [ x-) (xr!)

) f(g(4))
F ()
o
(4-3)

12|

——————
lo

¢) h(x) = (x —4)? —15
"(3 ‘-IS -5
x«tlﬁ"(j "fS

rtxs = y-Y

t«f,‘f x«ilg mﬂ

| |-

>
o) @x+1)/s=27

Ax+1=
| x - HO |

¢) V2x+11-Y-x+10=0

JEPRIE S 1 TTY

AL

yxtll = -X 110
3x 2t
x~ -z



